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Графический тест

  Верно  -  

  Неверно –

Ответ:  



Значения тригонометрических функций

1 3 5

4 6 2



Вычислите 

4sin        +  √3 cos       – tg       + 1,5 =

а) -1;      б) 2;    в) 1;    г) 0.
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Вопрос-ответ.

1.   sin α = 
 
2.  sin α =

  cos α = ?

   cos α= ? 
1
2

3
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при  α Є I ч    

при  α Є I ч    



Доказательство
1.
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АВ ² + АС ² = ВС ²  
 
  

 sin α = 

 cos α =

α

АВ =       *sin α
ВС
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АС =         cos α
 

ВС*



ВС       ² *sin² α + *cos² α =
  

ВС ²  ВС ² 

       sin² α + cos² α = 1  
  Основное тригонометрическое тождество 

 sin² α = 1- cos² α  cos² α = 1- sin² α 

 sin α = ± √1- cos² α  cos² α = ± √1- sin² α 



Решение задачи
                   

                      
                      2. Так как α Є I ч., то cos α > 0,   
                           тогда    cos α =

Ответ:      cos x = 

cos α = ?

 sin α =  4

< α <     Π
2 1. cos α = ± √  1-  3

4
= ±√ 
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1 -   sin  α2 = ±√ 

Дано:

0
3

Решение.

= 

√


